
 

 
 

 
 
Answer all the questions. (2 marks for each correct answer).  
Read the passage and then choose the correct answer for (1 - 4). 

It was winter, and Mrs Hermann wanted to do a lot of shopping, so she always waited until it was 
Saturday, when her husband was free, and she took him to the shops with her to pay for everything and 
to carry her bags. They went to a lot of shops, and Mrs Hermann bought a lot of things. She often stopped 
and said, ‘Look, Joe! Isn’t that beautiful?’. He then answered, ‘Alright, dear. How much is it?’ and took his 
money out to pay for it.  

It was dark when they came out of the last shop, Mr Hermann was tired and thinking about other 
things, such as a cup of coffee by the side of a warm fire at home. Suddenly, his wife looked up at the sky 
and said, ‘Look at that beautiful moon, Joe!’ Without stopping, Mr Hermann answered, ‘Alright, dear. 
How much is it?’ 

1. Mrs Hermann seemed to be greatly taking pleasure in …………..…….  . 
A. eating out with her husband   B. staying at home  
C. sitting by the fire     D. weekend shopping 

2. It was clear from the story that Mr Hermann …………..…….   . 
A. didn’t enjoy shopping    B. preferred to be somewhere else 
C. didn’t care what his wife was buying  D. All of them 

3. Despite having a clear dislike of shopping, Mr Hermann …………..……. . 
A. didn’t pay for everything his wife had bought 
B. refused to carry her wife’s bags 
C. didn’t refuse to go out with her wife 
D. waited until Saturday to take his wife out for dinner  

4. The sight of the moon didn’t attract Mr Hermann’s attention because. …………..…….  . 
A. he was tired and thinking about other things to do B. it was not very beautiful  
C. it was getting dark and he couldn’t see it    D. he was in a hurry to visit some other shops 

5. The British …………..……. in 1664 and …………..…….  . 
A. arrived / founded New Amsterdam  B. took over / renamed the village New York 
C. took over / bought the island for just $500 D. arrived / renamed the village New Amsterdam  

6. The height of Erbil Citadel mound reaches up …………..……. metres above the modern city below, but 
Stonehenge has .………..…….  .  
A. 30  / a diameter of 30 metres   B. 146 / 80 huge rectangular stone block 
C. 7.5 / a height of 7.5 metres    D. 102 / an area of 53.000 square metres 

7. To be efficient, grade 12 students should not …………..…….  . 
A. set clear goals for themselves   B. leave all their revision till the night before an exam  
C. set priority      D. say ‘no’ to time wasters 

8. NASA regarded …………..……. as top secret and used it  …………..……. . 
A. Apollo spacecraft / on fibre optics   B. fibre optics / in medicine         
C. fibre optics / on Apollo spacecraft   D. SchoolNet / over long distances 

9. In her reply email to Azad, Ms. Reilly said “It’s great you’ll be speaking for Kurdistan later on. I’ll be 
thinking of you. I hope it goes as well as yesterday’s presentation .” By (yesterday’s presentation) she 
meant .…………..…….  . 
A. Action for a Better World    B. Education in South America  
C. Building the New Kurdistan    D. Oil and Water Resources in the Middle East   

10. Another solution to the food crisis may be hydroponics which uses ……….……….. not …………..……. to  
provide nutrients. 
A. soil / liquids  B. liquids / soil  C. genes / liquids  D. weeds / soil    

11. Which statement is correct?  
A. If you want to install new computer systems, Steve Wright can help you. 
B. If the help desk can’t help, then bring your computer to Dave Ford.  
C. If there is something wrong with your phone line, Emma Lee will mend it.  
D. If your computer isn’t working properly, contact Carla Green for advice.  

12. I think I’ve mistakenly deleted your email. Could you ............. it again?  //   Yes,  …………..……. .  
A. send / certain B. transmit / certainly C. send / sure   D. transmit / sure 

13. The word (sociology) is the study of…………..……., but the word (prevent) means …………..……. . . 
A. social matters / to stop something before it can happen in the future  
B. the way human beings act towards each other/ to complete your studies successfully 
C. the way human beings organize themselves as a group/ to finish, e.g. a piece of work  
D. heat, light and other forms of energy/ to talk with someone who does not agree with you 

14. Everyone who works here should have a ten-minute …………..…….  at the start of the day.  
A. information  B. discussions   C. meeting   D. conference    

15. Which option is true?  
A. the suffixes we use to turn the verb (act) into a (thing) noun and a (person) noun are(-ion) and(-er). 
B. The words ( urban ) and ( rural ) are not synonyms.  
C. The word ( boarding ) often collocates with the word ( passport ). 
D. The preposition ( for ) often follows the connector ( in addition ).  

16. Choose the order (verb / noun / adjective).   
A. speech, science, square    B. decide, depth, fashion  
C. waste, sight, safe     D. weigh, creator, development    

17. When …………..……. first start to explore New York, they often choose to ‘get the feel’ of the city by 
taking a bus …………..…….  .  
A. tour / tourists B. tourist / tour  C. tours / tourist D. tourists / tour  

18. The letter (d) is sounded / dʒ / in the word …………..……. . 
A. edge   B. graduate   C. gadget  D. digital  

19. The letter (g) is not silent in the word ...................  . 
A. signal   B. design   C. sign   D. foreign  

20. The sound …………..……. is not found in the word …………….. . 
A. / f /, graphic  B. / z /, conservation C. / t /, relaxed D. / ŋ /, anxious  

21. The letter (a) in the word …………..……. is sounded …………..…….  . 
A. swamp, / æ /  B. software, / ɪə /  C. branch, / a: / D. woodland, / ʌ  /  

22. The underlined letter in the word ( heritage ) is pronounced as ……………. and there is no / j / sound in 
the word …………..…….  .  
A. / e / , useless  B. / ɜ: / , university  C. / ə /, suitcase  D. / e /, voyage    

23. They  …………..……. me to visit them for many years, but I  …………..……. time.  
A. have been asking / have never had   B. have asked / haven’t never had  
C. have been asked / haven’t had never  D. asked / was never have  

24. It  …………..……. that great secrets  …………..……. deep in the ground.  
A. thought / buries     B. is thought / were buried         
C. was thought / are bury    D. has thought / are been buried  
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25. Armstrong and Aldrin, …………..……. , made their flight in 1969.  
A. who was the first humans on the moon  B. which were the first humans on the moon 
C. who were the first humans on the moon  D. who they were the first humans on the moon  

26. (A fifth) is the same as …………..……. , but (12.5%) is equal to …………..……..  .  
A. 40% , a tenth      B. 20% , a twentieth 
C. ten percent, half     D. twenty percent, an eighth         

27. Extra work was done …………..……. all the walls …………..……. before the end of the week.  
A. so that / could paint     B. so that / would be painted   
C. in order to / paint     D. so as to / be painted     

28. ( doesn’t she? ) is the correct tag question for  …………..……. .  
A. She’s been very busy lately.    B. She has become a part of the family. 
C. She has to be ready for anything .  D. She’s working in Australia.  

29. (………………….) is the correct passive sentence.  
A. The full NY conference report are going to be published by tomorrow.  
B. My car has broken down by the end of the road. 
C. Alexandria founded by Alexander the Great over 2,300 years ago.  
D. The project successes and failures have already been noted.  

30. (If food doesn’t reach the city, thousands of people will die.) To express the same idea we say:    
(Thousands of people will die …………..……. the city.)  
A. unless food reaches     B. when food reaches  
C. if only food had reached    D. or food reach the city   

31. …………..……. staying in London? //    …………..……. . 
A. Where will be you / At a hotel   B. How long will you be / A week, at least  
C. Will you be / No, I’ll     D. How many of you will / Two of us, at least 

32. Which statement is false?  
  A. The phrase (as long as) usually warns about a bad result in conditional statements.  
  B. Negative questions sometimes check information like tag questions.  
  C. The form ( for the purpose of + v.ing ) is quite formal and mainly used in writing. 
  D. We never use (that) in relative clauses with extra information.   

33. I wouldn’t …………..…….here if I …………..……. the choice.  
A. live / had    B. live / has  C. have lived / have  D. lived / had  

34. First, you have to fill in your name. Then …………..……. your flight details.  
A. you need to write  B. you write  C. write   D. All of them  

35. His brother …………..……. the marathon last year. He …………..……. very fast.  
A. won / must have been    B. has won / maybe 
C. lose / can’t have been    D. had won / may have  

36. Mum ……….……. allow Josh to walk home from school every day on his own. He ………….…. to do that. 
A. shouldn’t / is too young    B. ought to not / isn’t old enough  
C. hadn’t better / isn’t young enough  D. must not / isn’t enough old  

37. Avin is arriving …………..……. February the 13th …………..……. eight o’clock …………..……. the morning.   
A. from / to / in  B. in / at / on  C. until / by / at  D. on / at / in      

38. …………..…….. on the coach? It’s …………..……. than the train.  
A. Let’s go / least expensive    B. I suggest we go / less cheaper  
C. What about going / less expensive   D. Why not go / much cheap 

39. I …………..……. of it until you …………..……. it.    
  A. didn’t hear / had mention    B. hadn’t heard / mentioned 
  C. wasn’t heard / mention    D. didn’t have heard / mentioned  

40. “A receptionist is a person who visitors to the company first meet.” The underlined part of the sentence 
…………..…….. . 
A. is a reduced relative clause    B. is a full relative clause 
C. can be changed to a reduced relative clause D. Both (B and C) 

41. …………..……. you …………..……. any photos while you were walking round the park? 
A. Aren’t / taking  B. Won’t / take  C. Didn’t / take D. All of them  

42. Grade 12 was …………..……. I decided my future career.  
A. when      B. which   C. the time when D. Both (A and C) 

43. …………. soon got rid of the weakest two of the six or seven men …..……. had already employed in Bristol.  
A. The squire / Long John Silver   B. Captain Smollett / the squire  
C. Blandly / Long John Silver    D. Long John Silver / the squire  

44. When Jim cut the rope, the ship and the boat started moving …………..……. .  
A. in opposite directions along the coast           B. straight out to sea, away from the island  
C. in roughly the same direction along the line of the shore      D. away from the narrow passage of water 

45. Dr. Livesey and Hunter had not gone more than a hundred yards when they came to an open area 
and they saw …………..……. . 
A. Ben Gunn  B. the stockade C. Ben Gunn’s small boat  D. the white rock 

46. The disagreement between Silver and Israel Hands was mainly about  …………..…….  .  
A. the idea of taking the treasure from the squire and the others   
B. whether to kill the squire and the others afterwards  
C. when to take the ship from the squire and the others 
D. how to persuade the other honest men on board the ship  

47. Jim realized that the old sailor was nervous about the other sailors especially a seaman who …..…….  
A. lost two fingers in his left hand   B. was blind 
C. had a long scar across one cheek   D. only had one leg 

48. After the Hispaniola had reached the island, the crew stopped …………..……. and started …………..……  . 
A. grumbling / following orders properly  B. following orders properly / grumbling 
C. lying around on deck / mutiny   D. mutiny / lying around on deck  

49. When Dick told Silver ‘‘ I like my job much better now I have talked with you. ’’ ,  it would be clear  that 
Dick ………………….  . 
A. had just become a member of Silver’s crew B. refused to join the pirates 
C. couldn’t be corrupted     D. was not ready to turn against his duty  

50. No one from the village wanted to return with Jim and his mother back to the Admiral Benbow Inn 
because some of them had  ………………….   .  
A. heard of the terrible Captain Flint   B. seen strange men on the road that day 
C. seen a ship in a nearby bay    D. All of them  
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